


























002-12600R

Chassis (For 3.7v,850mAH)

002-12601R

Gear Box Housing+ 

Upper Deck+ Battery Cover

002-12602R

Spur gear+Pinion Gear

+ Motor Guard

+Steering Bushings

002-12603
Suspension Arms 

(left/Right is same)

002-12604R
Dogbones+ 

Dogbone Cups

002-12605R
Steering Hubs+

Shock Towers

002-12606
Wing Stay + Wing

002-12607
Body Posts+ Bumper 

002-12609
Shocks Complete

(2pcs Front and 2pcs rear)

002-12610

Front Steering Links (2pcs)

+ Servo Link

002-12611R

Di�. Gears + Di�. Case

002-12612

Centre Dogbone (4*200mm)

002-12518

Servo Savers 

002-H021

Body Clip A/B- Small

002-12010

Wheel Hex. (8P)

-14-



002-12613

Front Upper Suspension 

Hinge Pins (4P) 3*28mm

002-12614

Front/Rear Lower Suspension 

Hinge Pins (4P) 2.5*36mm

002-12615

Dogbone Pins 4P (2*10mm) 

Pivot Pins 6P (2.2*11.5mm) 

002-12616

Motor Heatsink (RED)

002-12617

Washers 4P (φ6.3*12.5*0.2mm)  

Washers 8P (φ2.7*5.5*0.3mm)

Washers 2P (φ8.2*10.5*0.3mm)

002-12618

Wheel Lock Screws+Lock Pads

002-12633

3.7V,1500mAH 

(Li-ion Batteries) 2pcs

002-16003N

Front/rear Hub Carrier 

Pins(4P) 2.5*23mm

002-25014

Battery Contact Strips

002-79513

ball bearing 

7.95x13x3.5mm(8P)

002-H013

Ball Stud.( 8pcs)

002-12060

Motor Pinion Gears 12T +

Set Screws 3*3mm(2P)-brushed

002-12026
Motor Pinion Gears 13T +

Set Screws 3*3mm(2P)

002-12054
O� Road Tires , 

w/Sponge Inserted

002-12056
Wheels Complete

-15-



002-12057

O� Road Tires, 

w/Sponge Inserted

002-12620

Spoke Rims (Truck)

002-12621

Wheels Complete(Truck)

002-12056

Wheels Complete

002-12684

Truggy Body (Orange)

002-12685

Truggy Body (Green)

002-12686

Truggy Body 

002-12687

TruckBody (Orange)

002-12688

Truck Body (Green)

002-12689

Truck Body (Blue)

002-S011

Countersunk Self Tapping

Screw 2*15mm (12P)

002-S016

Set Screw 3*3mm (12P)

002-S018

Round Head Self  Tapping 

Screw 2.6*8mm(12P)

002-S020

Countersunk Self Tapping

Screw 2.6*8mm (12P)

002-S029

Round Head Self  Tapping 

Screw 2.6*10mm(12P)

-16-



002-S062

Countersunk Screw 

3*10mm (12P)

002-S107

Round Head Self Tapping 

Screw 2.6*15mm (12P)

002-S109

Set Screw 3*4mm (12P)

002-S152

Step Screws 

3.5*4.5-3*4.6mm(12P)

002-S160

Flange Head Self Tapping

Screws 2.6*8mm (12P)

002-S181

Countersunk 

Screw 2.5*8mm (12P)

002-S201

Round Head Self Tapping 

Screw 2.6*25mm (12P)

002-25026

Charge Box/ Charger

002-12522

ESC/Receiver Unit

002-12640

RC 390 motor

002-12030

5-wire Steering Servo  

002-12670-2.4G

Radio Controller

-17-



TUNINGTEILE / Tuning Parts

002-12203BT

Front Aluminium shock set

002-12204

Rear Aluminium shock set

002-12216
Brushless ESC(Receiver/

ESC)

002-12224
3-wire Steering Servo  

002-12215

Brushless Motor

(2848KV3800)

002-12528

BRUSHLESS Motor Pinion

Gears 16T +

Set Screws 3*3mm(2P)

002-12710

Front Dogbones(metal)+

Front Wheel Shafts(metal)+

nuts+screws+wheel pins+

Di�. Outdrive Cups(metal)

002-12711

Rear Dogbones(metal)+

Rear Wheel Shafts(metal)+

nuts+screws+wheel pins+

Di�. Outdrive Cups(metal)

-18-






